o £ 5 £ @EKRJIFLUE) H29 SRMNEKERRTIELD2
£ 73 Fedk. ~Hik | B 75A 100A % =
RYIFLUE
(EFENHES) ER 5m PN 21 105m
RUIFLL & [05m = ZYE 10 5m
1.0m .
1.5m P
2.0m & (29T 1 ZUE 2 2m  4m
2.5m P
3.0m .
3.5m . N
40m N ZUE 1 4m
EFY vk & 2
EFJo s Re GI% [ 1 2
EFF—X 100%75 & 2
FIHEFF—X 100100 &
&
SPLY 1—4— 100 X 75 &
EFESAUK 11° 1/4 &
22° 1/2 {&
45° 3 9
90° B
PEIE {Ef
T8 & 1
TOFE & 2
IV UEEM # 3
EED FINL m 125
FHRHEE GRY T + #8 100%75 [ 2
K NLD SGP 80A & 1
PE#E R &
B o £ H T HEEES
5709 &
PPy 8050 &
INILY T 50A &
VP 50A m
VPI/LAR 50A &
B M &£ i & HBKE)
& L1 ik, <tk | Bifx {i& £
EFYELDKEE 100%20] & 3
100%25| f& 1
Jryk 20A] & 3
25A| {@ 1
S KTF—N 20A] &
FRTF—I\ 20A| f@
PP 20A] m
25A] m




" M £ i = (RBRPPEE)
% ] Rk, Tk B 50A 25A 20A 13A
R)IFLUE m 164 164
m
T—\—Y vyt |50A {& 6
25A ®
20A ] 5
13A & 1
[
F—18—F—X [50x50 [
50 X 25 ] 1
50 X 20 & 3
I
20 % 20 [ 2
20% 13 & 1
13x13 B
(]
&
&
&
FRF—I— 50A {&
25A &
20A [l
13A &
ARTF—I8— 50A &
25A &
20A [E]
13A &
43 IE 7K FHT—/3—{50A &
25A {8l
20A [E] 5
13A &
&
&
=X % 13A &
RY—R/\LT [13A &
NI 50A &
AY—Z\LT  [50A &
65A &
E # £ FH = (HRsx EHR®
£ b1 k. Hi& BT @ = | &
EAREAEEJo2 65A| (@ 1
E2AXENSE ol 65A| & 1
=N )LT 65A| & 1
GP=v7IL 65A & 3
GPI LR 65A] & 1
GPF—X 65A| & 1
=2\ LT 50A| 1@ 1
GP=vTJ )L 50A| @ 1
GPTwi vy 65x50A| {& 2
SGP 50A] m 1
ART—7N 50A % 2
GPI LR 50A 1
SEAE LD 65A & 1




(BH)SXQ[STN T RARNEE= ¥HEMTIAROL 2 WOV0EE = 62HAIR T 6THAM T A0HSE AR L "00ZR B 3 ¥EAEEON J T alg My ibA X =dWRUST14
[ZEoo | £ & 0ES 0C Jo
EE WS+ |D wy wy
FHEY 05 1502 : =
EEEGS a2 TS
& % g WGTS 1501 0% 4%
I £ i LS SE T
3% Yy
o Ll
7 i
178 EAE
Fasiad Y
W WH
T 74
% e
i Yy
WE W
o 7Y
WE HE
7Y ‘Y
ey WH
prE WH
(2] W= | M=A | M*A-X | O%Q*¥a=h | D¥c*a=A G=n | 1] O-H=S [O+d+0-4 p¥a* (R 1¥a/ (1+0))=0-d-0 |N[/ Z%5.d] 1=1 | A=1 | 5+4=1 o¥ara=1| W p*arasc/| o=4 | 1=3 | =0 ] 4 ]
_ _ N _ N o d 0 | 10 3=f _ __|@o=o _
70 Zu cm Zul w El oo u ¢ om o u/gu w 5 ut Za o on w i [0 T
| 1r:] P (S IEE) (2 NEB) | (T NEE) g Fy # EICa b
F 4 |TH|IEW|FOW | #EK b2 F4E | © | Foym | o4 @ B WY | ol | BT [m¥Em TH| D 28 | BIEH | W | Bl | BT | TH|E| T®
[ EEE | fEe | WEE | Wegs of T ¥ T 1 = & EXE] &y T mwa..al_ ©“| TH F RN
HE ST o 1 B e L 1 F W o —
EHEEFET S XH ¢
(o0 | £w 08= 3,02 |o
ESN Woz=E1  |o 7% Y
EEan 0ES 08 | | 008 o £ 8
FREH ., wezs1 868 o8 R
B a rve WSS 1500 g 006 W 008 7z M&ﬁ:wwm
EEE £ OIS T |y 868 078
W Y
| W
Faial oy
S HE
W 7Y
W W
W | ey
W W
6c 0- |67 ¥ pEY 02 7 7Y |T[0e TEE R IE LA WEE
67 ¥ £[8500 70 [006 T [00™T 0081 | % 027 00% T 005 T 005 T | #5
00°¢ [00°€ [e10 [00¢ 007 |i%=1 v (62 0- |6V ¥ E 0C ¥ Ty [t[oe WEEE
U EI 67 7 i (880070 005 T 008 T T005"T | B | 0z % [60v 1 005 T (00571 | W B LAY
vy B=Z fi=A N&A=X | D*0xd=m | J*Cxd=A a=) L) 0-H=S JO+d+0=d P*d#* {R-[*2/ (1+%))=0-d-0 [N [p/ %2 4] =1 | A=¥ | d+Y=1 Jxd#d=1 H  P#Esd#g/] o=d | 1=4 | ¥=a J [l v
0 d 0 =H 10 j=[ (9+0)=9
u Zu oo Zu W e T ea ca u e | X w [ o K] o T o | oW W
wm P (ENEE) |(2 NEE) [( T NEE) & Y # R | %
ZF 8 |IHR|ITH|FEW | 1¥EH =T ZNEE | 9 | Fhmy [ o & (B B | B | BT |EE| TH| W 120 | BIEE | H | Bl | BT | THE| ¥
BIEIE) PR | WEH | WORE 9 Fm ¥ T 1 ¥ & ENEES 1 G T RE % i “| T Fcy-
HEEOT S B e I it
=
TR L RBEN R  oon ﬁ HW T E YN d




